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(a) Note that the DC gain is A, = —co if we assume V = oc.

1
Wy in = {RS ” rn} [Crr 4+ C“ {1 — A;-}] B E

Wpout = El

(b)
Vou . Cys —gm) Ry,
T = lim (et
a=(Rs | r=) R (CxCu + CosCy + CrCcs)
b=(149mR0) Cy (Rs || r2) + (Rs || r2) Cx + Ry, (Cy + Cess)
(Cus —gm) L _ Cus — gm
Rp—= as®4+bs4+1 [[Rg || r=) (CrCy + CosCy + CrCrs)] 8 + [gmCu (Rz || r=) + Cu + Ccsl s
Cus — gm

= 5{(Rs [ 72) (CxCp + CC5Ch + CxCe3) 5 + [gmChp (Bs || =) + Cp + Cos)

lwp| =[0]
ety = ImCu(Hs || r=) + Cu+Ces
F (Rg || rz) (CRC + CsCy + CrCrg)

‘We can see that the Miller approximation correctly predicts the input pole to be at DC. However,
it incorrectly estimates the output pole to be at DC as well, when in fact it is not, as we can see
from the direct analysis.
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